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General Instructions :

()

(11)
(iii)
(iv)

O

(vi)

(vit)

The question paper comprises two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be

(ix)

(x)

answered tn about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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HIT - A

SECTION - A

1. OR SAFRMA I HEACR FXk Hreq T i o1 S § 7 9ReRl &1 R &g

Jeh 1 3TeY ST ¢ 2

Why does carbon become stable after sharing four electrons ? What type of
bond is formed by sharing ?

2. fr= fafuai g S99 = 9 & g 1 9m fafan

(@) gEed
b) fgEvea

Name one organism which reproduces by :
(a) multiple fission

(b) binary fission

3. = o 7T Sel &1 SRR J@ar § gE SR WY OH ®R % g &1 A
faf@u .

Name the organisms belonging to the second and fourth trophic levels in the

food chain comprising the following :

Frogs, Plants, Snakes, Hawks, Insects

531/1 4
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4. TG THR ¥ oIF FT TG HONHS Bt £ 7 TRl ofF #T &9 +5D &1 TEear 2
Hiell | ®iRd g A1d RIS |

Which type of lens has a negative power ? The power of a lens is +5D. Find

its focal length in meters.

5. 3Tora FeATRtoiy STafirel gR1 Sl IR WS i gl aemsu | 2

List four problems caused by non-biodegradable wastes.

6. ‘Sia fafauar =1 oref fafew| o4 &R g Sieq & G0 d Y3 o G 1 2
Teh-Teh oy fafEm|

State the meaning of “biodiversity”. List one advantages each of conserving

forests and wild-life.

7.  UIHATA i Wifeaw o1q ¥ AMIRan gR1 e arelt 19 &1 99 fafee | woAfa 3
Y T T fhE YR 9T A 8 2 ST W 1 I & foru qEmtTe Tt
ST 39 Afafhan § o1vt sl YfHeRT hT Seci@ i |

Name the gas liberated when ethanol reacts with Sodium metal ? How do we

get ethene from ethanol ? Write chemical equation to justify your answer.
State the role of acid in this reaction.

531/1 5 P.T.O.



8. (a) TISEIHEA! T & i T 39 B dTel 3Gl o 1 fafgw | sad e
arell 1 1 qe fRg YR foren wiar €2 "o ¥ =men s

b) T=fafEa =1 sren suere St fafe .
@ C,H,g
@) C.H,g

(@) Name the products obtained on complete combustion of hydrocarbons ?

How is the gas evolved during combustion tested in the laboratory ?
Explain in brief.

(b) Write the next higher homologue of :
@® CgHg

(i) CyHg

9. WR Tl P, Q, R 3R S & TH] T&AT HU: 12, 13, 14 3R 15 T HROT Giegq
= fou T g &% S| ST

() Q T GASTHAT 1 & ?

(i) T Tl T IR0 UG SR TG | i |
(i) TTH ¥ HF 91 qcd Gaiieesh &g e S ?

Four elements P, Q, R, S have atomic number 12, 13, 14 and 15 respectively.
Answer the following questions giving reasons :
(1) What is the valency of Q ?

(1)) Classify these elements as metals and non-metals.

(111) Which of these elements will form the most basic oxide ?

531/1 6



10. gl I &1 sotae@ fa=rd 2, 8, 7 B 3

(@) ITE TA MYMF Aad IRt & fopg ovred iR gog o o1 €2

(b) TH T i WA FEA F1T? FE Tl UG § AU G ? 2

¢ 39 I HI UgAT AR 39 @ & THH TGS oI are fmddt T o1
ded 1 M faf@w )

An element has electronic configuration 2, 8, 7.

(a) To which group and period of the Modern Periodic Table does it belong ?

(b) What is the atomic number of this element ? Is it metallic or non-metallic
and why ?

(¢) Identify the element and name an element chemically similar to this
element.

11. (2 74 FRy faferi A E % =R FROT 6 g s\ R | 3

(b) afc =1 afeett HIW - T &1 ITAM X W 8, O 1 I8 SUF At Gl
UM q IR 999 FH | GgEFk B2 370 IW i R Figd gfte
FHIfY |

(a) List four reasons for adopting contraceptive methods.

(b) If a woman is using Copper - T, will it help in protecting her from sexually
transmitted diseases ? Give reason in support of your answer.

531/1 7 P.T.O.



12. (a)

(b)

(a)

(b)

13. (a)

(b)

(a)

(b)

i asft dua g 8, Wa eTveiaat (fewaiat) wqema (WieH) & g
T g 81 3HeRT RO SN |

Tfetert & &9 | Eh1] IR o7 (fera) & o= < fadsTer derol & =t
SR |

Fertilization is possible if ovulation has taken place during middle of

menstrual cycle. Give reasons.

List in tabular form two distinguishing features between a sperm and an
ovum.

Sitel H wued #1 €7 U8 fRdl agaitve g sfa w1 A fafae s gw fafy
ERI 54 LT B

TeE (qAsiH) g YR Sa1 €2 98 Uik |eft Sqefi  dva =i
T B2

What is fragmentation in organisms ? Name a multicellular organism

which reproduces by this method.

How does regeneration take place ? Why is this process not possible in
all animals ?

o

14. Ieo@ wifve fo fefafad § &R g9e[ § SR 9 9989 (T89) © :

(a)
(b)
(c)

et 3R Hie & 4@
Tesh, gy, Uell 3R AFa & STUe
= & HiT9el IR g9l & 99

T IW & gfe & fay swRor e |

531/1



State which of the following are homologous and which are analogous :
(a) Wings of bird and an insect

(b) Forelimbs of frog, a reptile, a bird, and a human

(¢) Flippers of whale and fins of fish

Give reason for your answer.

15. 7 feu T & fawed § @ FW efaw o § 3
() o9 % A I qAE AU FAT A H THA BT 37U

(i) STA-HULGU N I & A 1 HHSIA & €9 H GEIT HIAT |
39 g T T fahed o IR Al Sl Gel SR |

Which of the two is a better option :

(1) To collect rainwater in ponds or artificial lake or

@) To let it recharge groundwater by water harvesting ? List four advantages
of the option chosen to justify your answer.

16. Tl aream & Uy suadier o gy fafew) =9 it S & fay 3

o . 3 4 . .
ST AL AR 3 21 gfe = H 19T A1 I 2% 108 m/s §, o1 TR

Ft = (@) e, (i) S & i wife
Define absolute refractive index of a transparent medium. The absolute

refractive indices of glass and water are 5 and 3 respectively. If the speed

of light in glass is 2 x 10® m/s, determine the speed of light in (i) vacuum,

(11) water.

531/1 9 P.T.O.



17. (a) Y= & el TIF 9§ 910 & W PP & T (1) PRI & 999, (ii) IR
& 99 9 fewE <ar €2 Ufera T (Fui) | AR 1 RO fafau

(b) STAR&TS o AR A & LA T el Tdid BT &1 39eh1 R0 fafay |

(@) What will be the colour of Sun when it is observed from a place on the

earth (1) early in the morning, (i1) at the noon ? State the reason for the
change in colour observed.

(b) The sky appears dark instead of blue to an astronaut. State its reason.

18. Tl fyan 7 o9 g3 &1 U& ¢ foaenmer # Sifgen feamn ) wwg, 1 foa famme
ST o I9AId 39 ek A Taeimerd ST & |91 o foarm | |t St g’ R0 98 ST
R 3G ASHk A aarn foh STHT Fell & Fo fomnefl, gt =wS w1 v 9ot g9
F HROT, 39 fogm iR o a1 oy 3w fomneff % Wewidl € iR vt =%
3T @Al &, 3R 39 I8 +ff ==d § o 9% fomme™ =1 1 3|

() 1 fRdt & g fordll o1 off Imat 99t & 1§ Yo Hifawes (3fEa)
22 H?

(b) T I AL ATIIF & AaT IS ? T S|W ! gfie wiferg |
(© 9fosr ¥ TE oA 7 &, 39+ fau foume™ &1 w0 & a@fey ?

A father got his son admitted to a new school. However, after attending the

school for two days the boy refused to go to school. Upon enquiry he told his
mother that few students of his class tease and harass him for his dark skin
colour. You being one of his classmates are fond of him and do not want him
to leave the school.

(a) Is it ethical to call someone based on his skin colour ? Why ?
(b) Isit an inherited or an acquired trait ? Justify your answer.

(¢ What should the school do to avoid such incidents in future ?

531/1 10



19.

20.

531/1

e[ ATt (feeteieg) SFi & T TR & @90 €1 39 <El § SR
fafaq | @e[ & 96E Yihal 1 989 H JUH HIVC| FET HeR A H A
F T8l T 7 SIHSIh] o SA(F ITAN i galcdlied Fl haAl AMeL ? <
SR ! el ST |

Soaps and detergents both are some type of salts. State the difference between

the two. Describe in brief the cleansing action of soap. Why do soaps not form
lather (foam) in hard water ? Why is excessive use of detergents
discouraged ? List two reasons.

(2) fou T s ¥ A, B, C 3iR D &l qg=nfay 3R 3 M fafaw)

~

(b) TR fhd Fed €27 TUh Hed 1 AT HifT |

© o § o= % HAgc i A HISC | To0 o IH HFT Hl Jeeid DI,

SIRELEREE LI

o N

G) s o faefaa e )

() a H fasfad g 2

11 P.T.O.



(a)

(b)
©

21. (a)
(b)
(a)
(b)

531/1

Identify A, B, C and D in the given diagram and write their names.

What is pollination ? Explain its significance.

Explain the process of fertilisation in flowers. Name the parts of the flower
that develop after fertilisation into :

(1 seed,

(1) fruit.

SitaeH F E? A fhE YR 9d €7 Siawdl &t oy fuifa & & Q@
faferer o1 g § 9uiF wifse |

forepTeia Wiy @ie § Sftemedi =6l <1 Yfienistl i1 = s=Ee |

What are fossils ? How are fossils formed ? Describe in brief, two methods

of determining the age of fossils.

List any two roles of fossils in tracing evolutionary relationships.

12



22. 4 cm TR 1 RIS T 20 cm Tohal 541 % Terelt STet <601 & A 20 em g O
R feord 1 IO 1 ITART Tk a4 ATt Fidfora o feefd, gefa ok arEs
I it | SwiE feafa (W) & faw g foeeor s oft wifew iR 33
R gd, A IR Thal s SAfhd HifaT |

An object 4 cm in length is placed at a distance of 20 cm in front of a convex
mirror of radius of curvature 20 cm. Use mirror formula to find the position,
nature and size of the image. Also draw a ray diagram for the above situation
and mark the positions of pole, focus and centre of curvature on it.

23. (a) $H Y w1 AW fafgu g suam seds o9 & w9 § fva ST gwa ¥l 2
fora =1 forg fearfa & faT =18 3S9a o9 9 fou T @1&1on & fdfetst =
?

G fora & U@ 4R &1 arfas AR Seer yfafas ?

(i) oTuTE IR Hiem yfdfers ?

Y%k JRO H U IR H e & fau o s Eifaw

() fHE ST AH & Y 9 H F FOS G &H e TR gg T
forear =1 q gfdforea s 2 A9 IW i g & fore foro s Eifam

(a) Name the lens which can be used as a magnifying glass. For which

position of the object a convex lens form :

(1) areal and inverted image of the same size as that of the object ?
(1) a virtual and erect image ?

Draw ray diagram to justify your answer in each case.

(b) One half of a convex lens is covered with a black paper. Will this lens
produce a complete image of the object ? Draw ray diagram to justify your
answer.

531/1 13 P.T.O.



24.

531/1

(a)

(b)

©

(a)

(b)

(c)

TS 3 o 3T 9N R Gl TAET S A3 H G HI dlel FhRT ok GRAT
1 fEfa & €1 =aren wifee fe 3 @ e geR i © 2

e 93 F e (gfeuesw) =1« fafau

Ife FB W AT 91 & RO TRG T &1 BT eI B Sl &, al
STt gfte &ffor (gefat) & St €, den =afad ofen € whar €1 39 YHR HY
3ieral o1 F1eM e i st 43 <M 9 9T kit Rl gfawenfud ileh
fhall ST Wehal T AT &I, &I o 999, 79 T % fol IR & &

P IUTH HARY |

List the parts of human eye that controls the amount of light entering

into it. Explain how ?

Write the function of Retina in human eye.

If due to some disease or injury, the cornea of an eye is clouded, the vision
is impaired and the person may become blind. This type of blindness may
be cured by replacing the defective cornea with the cornea of the donated
eye. Suggest some measures for motivating people to donate their eyes
after death.

14



SECTION - B

25. <9 g9 UHifch 317 &l Tk 9< U8cl o fofend 0 W AR iR fidt feemm o3 1
T SId §, o 1 907 A © ?

(a) o feaeqg 99 TR & S ®, qen Hften foems ot en € wa R

(b) e faemm 93 Hien & S 8, qen Aen foaeng u Fen € war g1

(© o foema 931 ot & t&ar 8, a4 Ao foeny 13 e 8 S g

d) o foema 93 ften & S ®, den Hien foeww v ae @ S §)

What is observed when we pour a drop of acetic acid first on red and then on

blue litmus papers ?

(a) Red litmus paper becomes colourless and blue litmus paper remains blue.

(b) Red litmus paper turns blue and blue litmus paper remains blue.

(¢ Red litmus paper remains red and blue litmus paper turns red.

(d) Red litmus paper turns blue and blue litmus paper turns red.

531/1 15 P.T.O.



26. Tohdl TN & faQ faemera qon 36 9819 § HeR oidl SUTTsd 7l §, W aeed
FT FARIET § 9 U T 9 d9v STes © |

Nes N

0 9Hifeaq wINES;

1) Hfeaq gehe;

(I11) FHfcTTy FINES;

AV) FHfcqay Tethe;

V) Ui wAREs;

VD) HIfEm wethe

1= 9T ¢ 7 A9 o TR H | 9% §HE AT SR Yo 0, S hl HoR

9 & foru, SEH Sen S g g1
(@ @, dDn, V) (®) @), AID), (V)
(¢ ), AV), (VI) d an, av, (vi

Hard water is not available for an experiment in the school and its vicinity.

However, some salts as given below are available in the school laboratory.
(I)  Sodium Chloride

(II) Sodium Sulphate

(IIT) Calcium Chloride

(IV) Calcium Sulphate

(V) Potassium Chloride

(VI) Magnesium Sulphate

Select from the following a group of these salts, each member of which may be
dissolved in water to make it hard.

(@) @), dD, (V) (b) (@), AII), (V)
(© D, AV), (VD) (d) D, @v), (VD

531/1 16



27. W1 B IR WEAf@E P, Q, R 3RS, ¥ § 6 mL 3T ot ofal §, 366 1
Ty 98 9r fafys oo w TuE 7, S8 wEHet P A difsdd s,
‘Q H diefiem RS, ‘R A Sicwed FREs a9 'S § e sREs sl
21 THKh IO 9% YA WEAc H HEA o faaed & 10 9% Sl ITh!
YEARET &1 Jefifa feaa 1 SRR A6 # 30 fhem arell weEne/RaH e
R

(@) PaQ

(b) Had P

© RAS

d HeQ

A student takes about 6 mL of distilled water in each of the four test tubes

P, Q, R and S, then dissolves in equal amount four different salts namely
sodium chloride in ‘P’, Potassium Chloride in ‘Q’, Calcium Chloride in ‘R’ and
magnesium chloride in ‘S’. He then adds 10 drop of soap solution to each test
tube and shakes its contents. The test tube(s) in which he would observe a
good amount of lather is :

(@) PandQ
(b) Only P
(¢ RandS

(d) OnlyQ

531/1 17 P.T.O.



28. HId & FAGR Ta ¥ oA aTeil FehT fhIvl &1 79 TRFEd ®id 90y foneh

BE A M Yaqur e U SR aifcieeg fo -

%Y G 0i Or Oe
I 60° 40° 61°
II 50° 36° 51°
111 40° 26° 40°
v 30° 20° 31°
'FI%QI ‘j&TUT % :

(@) (@) R D)

(b) (I SR (111
(¢ (I R 1V)
@ (@, A1) 3R @V)

While tracing the path of a ray of light passing through a rectangular glass

slab, a student tabulated his observations as given below :

S1.No. (1 Or e
I 60° 40° 61°

II 50° 36° 51°
IT1 40° 26° 40°
1A% 30° 20° 31°

The correct observations are :
(@ () and (II)

() (I and (IIT)

(© (II) and (IV)

@ @), AII) and (IV)

531/1 18



29. 37gdel YU w1 Wiy O Tt w@ wwa g gdw gRy feRet qey fom w1
yfafers 96 W FRIHfad FH H TIE HQ &1 IS W o1 o Ylafes, fow
& el KYT B ifen ?

(@) = R 9gd B (b) 3T AR Fe
(¢ Hrem IR ae d) ST R Fgd B

While determining the focal length of a concave mirror, you try to focus the

image of a distant object formed by the mirror on the screen. The image formed
on the screen, as compared to the object, should be :

(a) erect and highly diminished (b) inverted and enlarged

(¢) erect and enlarged (d) 1inverted and highly diminished

30. fwdt == A foret Sy 991 o1 v, Ieer gfafors 39 o9 & 9 W@ 0e W 1
gTed fRaT | Wk IYETd 39 U8 i gl fean oIk i @iw ¥ ¥ gu o =t foum
T @A 1 T R 3/ g8 1 Y& Hym ?
(a) TANTEET i SR T e gfafo |
(b) A" W F&T HT Gyl Yo |

) e Yidfers T2i, i dei g1 foaen T 7|
d) oF % HHT T J&T H el Ffafa |

A student obtained a sharp inverted image of a distant tree on the screen

placed behind a convex lens. He then removed the screen and tried to look
through the lens in the direction of the object. He would now observe :

(a) a blurred image on the wall of the laboratory
(b) an erect image of the tree on the lens
() noimage as the screen has been removed

(d) an inverted image of the tree at the focus of the lens

531/1 19 P.T.O.



31. &9 % fUsH 9 oA dret Geprr fohior &1 99 ARfEd Hd 999 BB 4 39
&0 39 YRR KA 6T :

() 9g 9 ®idg H Sd GHA JYH ATAdh & W AT ok G¥Ed Tohrel Tohion

e ¥ R gl B

o N (o

() fsd@ sT9ad® I8 W Y™ fhe0 919 @ Hig § Ja9 Hdl

(i) o0 @ oA W Y™ T IR 4l 21 © 3R T 3ad+ H 98 3TUR
1 AR FHhaT T

(v) T8 § ToRd 99 YT <1 IR STuafdd e ¢ | 9¥H STuadd § I8 Afyers
Y R Fha1 §, Safeh fgda e | 98 A &l 3R Fohd ¢ |

k| Pt % /% :
(2) HIA (1) 9 (i) (b) HAA (iii)

© e (ii) 9 (iv) d) Had Q) T (iv)
During the experiment, to trace the path of ray of light through the glass
prism, students reported the following observations :

(1) The ray of light from air to glass at the first refracting surface bends away
from the normal after refraction.

(1) At the second refracting surface, light rays entered from air to glass.

(1) Light ray suffers two refractions on passing through a prism and in each
refraction it bends towards the base of the prism.

(iv) Light ray suffers two refractions on passing through a prism. In first
refraction it bends away from the normal while in the second refraction
it bends towards the normal.

The correct observation(s) is/are :
(@) (1) and (11) only (b) (111) only
(¢) (1) and (v) only (d) (@) and (iv) only

531/1 20



32. I ¥ P & faT ¥& w1 FHQ -

() S wE F ford fo¥iv & @ FE qFd WA 2|

(i) ST RITYTRT &1 Fafd shifmeRstl § fawisa 2l §, i ==l St w1 i
AT & S T

(i) SR HE W AAT TH 9 9 D8 TP 34 qpdd 9 Fhdl T |

o haV

(iv) SR HE H FAT Td 9T ool 01 Taehfya gt -1 wdst Sitel o Sl

T

(@ (@), @ 9 @)

®)  Gi), (i) T @iv)

(© (), av) 9 @)

d @), O 9 @)

Select the correct statements for the process of budding in yeast :

(1) A bud arises from a particular region on a parent body.

(1) A parent cell divides into two daughter cells, here the parent identity is
lost.

(1) Before detaching from the parent body a bud may form another bud.
(1v) A bud when detaches from the parent body grows into a new individual.
(@ (), (11) and (ii1)

(b) (1), (i11) and (iv)

() (1), (v) and (1)

) (@v), @) and (i)

531/1 21 P.T.O.



33. BEI & frdt wqe Y, orfien A fg@ued qun die & g 1 Yt A & fog 1
wEE < T | B N WK[ $9 de e few e §

() A= =R # Fifve g favee faai foan)

(i) oTHiEn B gpal &l Juen foaE &

(iii) THIEAT 3R A= F e RIRTERBT | Hae: fgEved dAR qHad 31 @I a1l

o~ e

(v) oTdren H <reffeha dseh <1 Gafd el § fawnfera &1 @ o)

TTH Tl FaIo g
(@ @9 W) (b) ()9 ()
(¢) (1) 9 (1v) @ @9 av)

Slides of binary fission in Amoeba and budding in yeast were given for

observation to a group of students. Some of the observations reported by the
group are given below :

(1) Cytokinesis was observed in the yeast cell.
(1) A chain of buds were observed in Amoeba.

(1) Single cell of Amoeba and single cell of yeast were undergoing binary
fission and budding respectively.

(iv) Elongated nucleus was dividing to form two daughter nuclei in Amoeba.
The correctly reported observations are :
(a) (1) and (1) (b) (11) and (i11)

© (i) and (iv) @ @) and (v)

531/1 22



34. UHifew o & W @ oiifass Toremf iR < vt o @ g e
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List two physical and two chemical properties of acetic acid which a student

can test in the school laboratory.
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Out of potato, sweet potato, pea tendril and spinach, which two are analogous

structures and why ?
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A 6 cm tall object is placed on the principal axis of a convex lens. The distance
of the object from the optical centre of the lens is 15 cm and its sharp image is
formed at a distance of 30 cm from it on a screen placed on the other side of
the lens. If the object is now moved a little away from the lens, in which
direction (towards the lens or away from the lens) will he have to move the
screen to get a sharp image of the object on it again ? How will the
magnification of the image be affected ?
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